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Diploma Engineering — SEMESTER - 3 (NEW) - EXAMINATION — Winter-2024

Subject Code: 4330703

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Basics of Operating System

Time: 10:30 AM TO 01:00 PM

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
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Use of simple calculators and non-programmable scientific calculators are permitted.

English version is authentic.
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Explain components of computer system

5123 (AUl el s) Mol
Explain various process states in brief with diagram.
WL5(d A1 AdlHUL [aldy vIAY e dHomdl.

List different types of operating system. Explain Time sharing and real time
operating system in detail.

([aAlay usiell 21u(ea1 (el AlE]l weildl. 2l8H AR A | 2leH
VU3l [reHa (Aol YHod).

OR
List different types of operating system. Explain multiprogramming and
multitasking operating system in detail.

(alay uslefl 1N [AeHeA] ULEL wetld)l. HESIUALMHIL w1 HeLl212s]aL
VU321 (MM (Aoldell YHosld).

Differentiate between preemptive and non-preemptive scheduling algorithm.

V1A [ed ae (04el -yl (Lod 153y (621 WM R 4 dsldd SR,

Calculate Average turnaround time and average waiting time using First come first
serve (FCFS) algorithm. Draw Gantt.

Process Arrival Time| Execution Time
PO 0 5
P1 2 3
P2 4 8
P3 6 6

§3 SH §3 Ud (FCFS) WL RYHeA GUULIL 53] U2ULL 2oAnRUGS UHU ol
URULL AUE Wlcllell UHAeAL AR 52 e €12

Process Arrival Time| Execution Time
PO 0 5
P1 2 3
P2 4 8
P3 6 6
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Explain mutual exclusion and critical section in detail.
1224246 W A5G0l Wl (5259 A5l (AdAdalR AHod)

OR
Differentiate between process and program

ULAY e YA dR dsldd 520

Calculate Average turnaround time and average waiting time using Shortest Job First
(SJF) algorithm. Draw Gantt.

Process Arrival Time | Execution Time
PO 0 5
P1 2 3
P2 4 8
P3 6 6

212 Xt s (SIF) WUENRUHeAL GUANIL STl AU 2o1UGS UHY WA
AU 2US %\cllotl YHUeAl AQdR] 52, A2 €12,

Process Arrival Time | Execution Time
PO 0 5
P1 2 3
P2 4 8
P3 6 6

What is Deadlock? Explain necessary aqd sufficient deadlock conditions.
55415 ) 87 55615 Hicetl e el UM 2] HHdl.

Explain address translation in segmentation.

Solve the example using first fit and best fit algorithm. Consider
multiprogramming with fixed partition having memory partition of 200 KB, 400
KB, 600 KB, 500 KB, 300 KB and 250 KB.

Process Memory
Request
P1 375K
P2 210K
P3 468K
P4 491K

yelH (52 ¥ Ay (52 W Ryl GUAlL 53 GelsL G356, 200 KB, 400 KB,
600 KB, 500 KB, 300 KB ¥4 250 KB QH3| U221t Hlddl (554 uldlelel 41
NI RSITEHTRN

Process Memory
Request
P1 375K
P2 210K
P3 468K
P4 491K
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Explain Multiprogramming with Fixed (static) partition with figure.
(55 ((R&12) uLlatel 418 wLs(d U1e HIEUALHL YoM,

OR
Write short note on swapping.
KA1 UR g5l «tld qudl.
Consider page reference string 1, 3, 0, 3, 5, 6, 3 with 3 page frames. Find the
number of page faults using FIFO algorithm
3o 34 U1 oy el 8311, 3,0, 3,5, 6,3 9wl €. FIFO «ll GUL|
531 0oy slee ol vyl QLlell.
Explain Multiprogramming with Dynamic partition with figure.
15(d 41 SIUAMS ULElalet u18 1AL YHomd).
Explain following UNIX command : cat, wc, Is
o{ldetl UNIX command dH%1dl: : cat, wc, Is
Explain various file operations in detail.
[alaa s16a sM1A (AdldalR AHodl.
Explain FCFS algorithm with example of 200 tracks and disk request sequence
i 98,183,37,122,14,124,65,67, head pointer starting at 53.Find number of head
movement in cylinder.
200 25ell GelsWl A FCFS WNRYH qHdl wa (S5 [deidl s
98,183,37,122,14,124,65,67 8, &5 UloeeR 53 ol e Ul 8. (A4S és
Yo eefl Auul 2l

OR
Explain features of Linux operating system.
Linux U221 (eHedl (AN did] yuesdl.
Explain various attributes of file.
519Gl (dlay Agloye yHdl.
Explain SCAN algorithm with example of 200 tracks and disk request sequence
is 98,183,37,122,14,124,65,67, head pointer starting at 53.Find number of head
movement in cylinder.
200 259l GeleW IS SCAN HNRUY AMdl e (S [(deidl su
98,183,37,122,14,124,65,67 8, &S Ulgea? 53 &l 2= 1Y 8. [A[Ges] Higlledl
ECRITCEA RIS CIR
Define Throughput, Turnaround time and waiting time.
%Y, 2RAGS UMY A U Flaledl UHA ULALRI 5.
Give difference between logical address and physical address.
dllesd WS Wl (5356 215U AR dsldd w1,
Write shell script to read three numbers from user and find maximum value
among them
duRusdl uldell 4l «iiR) diudl 12 Ad Fse duil e duiell HedH Y&l
20lell

OR
What is deadlock? Explain conditions for deadlock to occur.
5565 9) 8? 55Els Ud| Hls(l 2l UM,
Give difference between external fragmentation and internal fragmentation.
W LEl (Aol W AidRS [AM 1%l dA dslad 41U,
Write shell script to read five numbers from user and print its sum and average.
duRlLsdl ulAell iy «uR] diudl 2 Ad Rse qull el dell Ad10ll 24
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